1074

1072

R : M
= . . v . . .
IS Eoo v gl e A
o 1."' da i A
.
I . vardy ¢+ 4|
Foalts, dpn aﬁ% SA W
:;*‘:": O T T VS
0.95 a7
=10-8 6 -4-20 2 4 6 8 1

[pull of @parameter

107}

1072

Ev

[ pull of goverp parameter |

e%ges =0
1 0_15_ %jnst%\l{lf 38& [
E : ; TIes - 70483 E
: é -
-2 d A e 4
all: : B o
» Mean —8.‘
[ iy B |
- ' WO G
. ()'Dt%\v/wt 8 8@5?;
10°F : 01532
107
il
IS
@
0.9F-
0

-0.
Snstant
ar 0%
1gma 1
Tes
-0.
Shstant
an 0.%
1gma 1

°80-8 =6 4 2 0 2 4 6 8 10

| pull of dxy parameter

107}

1072

ev :
Qnstant g,
N N

igma

nires

Ratio

107}

TIes

ey O
g o s
Igma - - 1

nTes

(G Bev
onstant
lean
|'r_1ma -

rnes

=

1072 o
& | GensEhe o967

e —

S,

10—3 :. A._ gg
R

Ratio

v

%80 -8 =6 -4 —2

[ pull of dz parameter

107}

Ratio




	Contents
	Page 1


